A TR (1/2)
LALOTHE | LSRR | LSAARIE | Leusslls | B R | A AR S
[5]
o 20%13 260
[l % L S e i 1 +REE T B AR CRIE ) t=10cm BIARS ARG ALY
o 20%13 260
S AN t=4cm RIS ARG ALY
3 260%0.14 36
Ve |- T PRARY (BRI +m AT AES
R b T [ 3 260+%0.14 36
oAb S - Oy 5.5km
e I 1
W % R 1 WE BN ER & T Lo wy T
1 1
HNoINTR &
e I 1
L WO ZATAH —
e I 1
Eo5 oL GUT
e I 1
Ny Ry —
EERY MR YT 3 1 1
TAZ
[l WAV % % 1 !
INUH
EERY MRS 3 1 1
Y1
WAV % % 1 !
A
3 57.05 57
TEE+ T JRIEY /N BIRE - TEE R R LD (REAMIRY, 7 = A G Tr)
3 46.14 46
HERL N B+ TAE G S0 URFER . 7= R ETe)
R b T [ 3 57.05-46.14-0.45 10
D SSE L - LSy 5.5km B TAEFHFR I URTEER , 7 =2 A5 Tp)




(2/2)

LAA2THE | LoVVSEERD | LLARIE | LAsHs | fE A | B R S
=]
B 2 2
SN S AE N AR B T VWA= T. Fy AR L H—
B L 1
AR B T ARMEHINE L [ cm=cex—saimimes %35 FEE540kg
m3 4.14 4
EELT PRAEY GiEHID /NBUR B TSR LY
3 4.59 5
HEL N BIHE - TR I
m 13+20+13+19 65
B PR R B i it Ay ad A
1 1
Jv B & BE i
a7 —MEEY) BRAHHEEY) n3 0.38 0.4
WS E T HIEY BUEL T B TR T BIAAE SIS R R LD
a7 —hik n3 0.38 0.4
TERAVEE T e - L5y B BRI SRR LD
WEEL#— . 0.54 0.5
B AR ShE R 4.0km &8 A E YR EER R LY
TR . 0.2 0.2
B Sl s L Sy 41.9km AT




(EEYHEHREEHE)

T (r~12) BEYEEL B wEmE D bl Ty ) CEG),
fE Bl (L~ 3) & )
Wi B4 W 24
JEHE (m3) [EEE _ (m3) \ _ (m3)
E4Si] g
IS DA ST 0.02 20 0.38
o~ 0. 38 o~ 0.00
T fE (L~12) BEYEL B B4 mER (WEiER)
oAl (L~ 3) RS
Wi B4 W B4
=R (1) B R (1)
e ) 0. 54 1. 00 0. 54
P 0. 54 P 0.00




O+ THHE (BRE)

W HA4 HFHE(m3) HEL(m3)
1210 Ny NS 6.38 3.98
HNSINTR 3.4 2.88
HRSZIATAH — 2.93 2.23
B NoVAS 9= )b 1.02 0.9
BRE ARy Py = (TRR) 8.71 7.24
plisA=A
RV MR 7 (435) 3.16 2.56
Fy AR L E— (23) 13.32 9.72
Ayya Tz A 16.83 15.51
Jr PR PR 1.3 1.12
Ny 57.05 46.14
S = S E NS 3N 4.14 4.59 ~RE (m3)
. -0.45
Ny 4.14 4.59
&Ft 61.19 50.73
%t8 (m3)
10.46




OxemEEEEFE (AR

W HA4 ZAREIRE AR (m2)
W 2% & R (20%13) 260
&Ft 260




E#R7nyos@
E35 222 510)

EHRT7nvoQ
HBREQ

ERT7nvs0Q
ES5 22510

ER Ty s@
HEBHRO®

E#R7nys®
E35 222510

E#R7nvs®
E35 2222510

EHRT7nyo@
ES5 22 510)

EHRT7nvs@
ES5 222510

EHR 70y s@
HBREO

E#R7ny @

HEEna0

B

B

B

B

B

B

B

B

B

B

& (m)

1.96

2.06

RIE
ERL

BERRIMERE

bR IRI TV

817 (m)
X 0.4 x
X 0.5 x

0.90|m3/% ERRR

0.57 [m3/&

RIE
ERL

X 1.2 X
X 13 X

1.01|m3/%& ERRR

0.54 [m3/&

RYE
ERL

0.07|m3/% ERRR

0.07 [m3/&

RYE
ERL

0.07|m3/%& ERRR

0.07 [m3/&

PRIE
ERL

0.07|m3/%& ERRR

0.07 [m3/&

RYE
ERL

0.07|m3/%& ERRR

0.07 [m3/&

PRYE
ERL

0.07|m3/%& ERPR

0.07 [m3/&

PRYE
ERL

0.07|m3/%& ERRR

0.07 [m3/&

PRIE
ERL

0.07|m3/%& ERRR

0.07 [m3/&

PRYE
ERL

0.07|m3/% ERRR

0.07 [m3/&

RiE1/12

HWE)

= (m) &1 (m3)

0.15 = 0.1176
0.2 = 0.206

o
0.15 = 0.18
0.2 = 0.286
0 = 0.000
0.2 = 0.002

o2
0 = 0
0.2 = 0.002

o2
0 = 0
0.2 = 0.002

o
0 = 0
0.2 = 0.002

o2
0 = 0
0.2 = 0.002

o
0 = 0
0.2 = 0.002

o
0 = 0
0.2 = 0.002

o
0 = 0
0.2 = 0.002

o
i it 6.38
BRL A&F 3.98
=2 af 7.61

582 (kg)

N
I
o
>

423



ER 70y o@
E35 222 510)

ER70vo@
HBREQ

ER 70y o0
ES5 22510

ERT70vo@
HEBHRO®

ER7n0v o0
E35 222510

ER70vo®
E35 2222510

ER 70y o@
ES5 22 510)

ER70vo®
ES5 222510

ER 70y o0@
HBREO

ER70v o

HEEna0

B

B

B

B

B

B

B

B

B

B

N BERHERAE
HU>INTR
& (m) &7 (m)
0.4 x 0.4 x
0.5 X 0.5 X
RIE 0.85|m3/%& A
ERL 0.72 [m3/&
0 X 0 X
0.1 X 0.1 X
RIE 0.07|m3/& A
BRL 0.07 |m3/&
0 X 0 X
0.1 X 0.1 X
RIE 0.07|m3/%& A
BRL 0.07 |m3/&
0 X 0 X
0.1 X 0.1 X
RIE 0.07|m3/%& A
BRL 0.07 |m3/&
0 X 0 X
0.1 X 0.1 X
RIE 0.07|m3/%& A
BRL 0.07 |m3/&
0 X 0 X
0.1 X 0.1 X
RIE 0.07|m3/%& A
BRL 0.07 |m3/&
0 X 0 X
0.1 X 0.1 X
RIE 0.07|m3/%& A
BRL 0.07 |m3/&
0 X 0 X
0.1 X 0.1 X
RIE 0.07|m3/%& A
BRL 0.07 |m3/&
0 X 0 X
0.1 X 0.1 X
RIE 0.07|m3/%& A
BRL 0.07 |m3/&
0 X 0 X
0.1 X 0.1 X
RIE 0.07|m3/%& A
BRL 0.07 |m3/&

&iB2/12

GB w2

mE (m) #HE (m3)

05| = 0.08

02| = 0.05
[ o ]mos

of - 0

02| = 0.002
I

of - 0.000

02| = 0.002
I

of - 0

02| = 0.002
I

of - 0

02| = 0.002
I

of - 0

02| = 0.002
I

of - 0

02| = 0.002
I

of - 0

02| = 0.002
I

of - 0

02| = 0.002
I

of - 0

02| = 0.002
I

KiE A&t 3.40

EBREL & 2.88

e Aaf 1.00

582 (kg)
188.00



E#R7nyos@
E35 222 510)

EHRT7nvoQ
HBREQ

ERT7nvs0Q
ES5 22510

ER Ty s@
HEBHRO®

E#R7nys®
E35 222510

E#R7nvs®
E35 2222510

EHRT7nyo@
ES5 22 510)

EHRT7nvs@
ES5 222510

EHR 70y s@
HBREO

E#R7ny @

HEEna0

B

B

B

B

B

B

B

B

B

B

& (m)

0.4

0.5

RIE
ERL

WERHERE
YR S

817 (m)
X 0.8 X
X 0.9 X

0.91|m3/& ERRR

0.72 [m3/&

11

1.2

RIE
ERL

X 0.75 X
X 0.85 X

1.49|m3/%& ERRR

1.04 |m3/&

0.3

0.4

RYE
ERL

X 0.3 X
X 0.4 X

0.53|m3/& ERRR

0.47 [m3/&

RYE
ERL

0.07|m3/%& ERRR

0.07 [m3/&

PRIE
ERL

0.07|m3/%& ERRR

0.07 [m3/&

RYE
ERL

0.07|m3/%& ERRR

0.07 [m3/&

PRYE
ERL

0.07|m3/%& ERPR

0.07 [m3/&

PRYE
ERL

0.07|m3/%& ERRR

0.07 [m3/&

PRIE
ERL

0.07|m3/%& ERRR

0.07 [m3/&

PRYE
ERL

0.07|m3/% ERRR

0.07 [m3/&

KiB3/12

G 1)

= (m) &1 (m3)

0.3 = 0.096
0.2 = 0.09
0.3 = 0.2475
0.2 = 0.204

o2
0.3 = 0.027
0.2 = 0.032

o2
0 = 0
0.2 = 0.002

o2
0 = 0
0.2 = 0.002

o
0 = 0
0.2 = 0.002

o2
0 = 0
0.2 = 0.002

o
0 = 0
0.2 = 0.002

o
0 = 0
0.2 = 0.002

o
0 = 0
0.2 = 0.002

o
i it 2.93
BRL A&F 2.23
=2 af 1.63

582 (kg)

o
w
[



ER 70y o@
E35 222 510)

ER70vo@
HBREQ

ER 70y o0
ES5 22510

ERT70vo@
HEBHRO®

ER7n0v o0
E35 222510

ER70vo®
E35 2222510

ER 70y o@
ES5 22 510)

ER70vo®
ES5 222510

ER 70y o0@
HBREO

ER70v o

HEEna0

B

B

B

B

B

B

B

B

B

B

BEERHMERE

ES 8D TY S

KiB4/12

G #)

& (m) 217 (m) & (m) i (m3) =8 (k)
04]  x 025 x 0.25| = 0.025 | 58.75|
05| x 0.35)  x 02| = 0.035
BRIE 0.51|m3/% gama | 018 |m2/s
BEL 0.45 |m3/%
o] x o] of = 0 | of
01 x 0.1 x 02| = 0.002
BRIE 0.07|m3/% HBTA m2/
BEL 0.07 |m3/t
o] x o] of = 0.000 | 0.00]
01 x 0.1 x 02| = 0.002
BRIE 0.07|m3/% HBRA m2/
EEL 0.07 |m3/t
o] x o] of = 0 | 0.00]
01 x 0.1 x 02| = 0.002
BRIE 0.07|m3/% HBRA m2/
EEL 0.07 |m3/t
o] x o] of = 0 | 0.00|
01 x 0.1 x 02| = 0.002
BRIE 0.07|m3/% HBTA m2/
BEL 0.07 |m3/t
o] o] «x of = 0 | 0.00|
01 x 0.1 x 02| = 0.002
BRIE 0.07|m3/% HBRA m2/
EEL 0.07 |m3/t
o] x o] of = 0 | 0.00]
01 x 01 x 02| = 0.002
BRIE 0.07|m3/% HBTA m2/%
EEL 0.07 |m3/t
o] o] «x of = 0 | 0.00|
01 x 0.1 x 02| = 0.002
BRIE 0.07|m3/% HBTA m2/%
EEL 0.07 |m3/t
o] x o] of = 0 | 0.00|
01 x 0.1 x 02| = 0.002
BRIE 0.07|m3/% HBTA m2/
BEL 0.07 |m3/t
o] x o] of = 0 | 0.00]
01 x 0.1 x 02| = 0.002
BRIE 0.07|m3/% HBRA m2/%
EEL 0.07 |m3/t
RiE At 1.02
BEL aFt 0.90
2 B 0.35




{EE2S
ER 70y o@
E35 222 510)

B
ER70vo@
HBREQ

{EE2S
ER 70y o0
ES5 22510

{EE2S
ERT70vo@
HEBHRO®

{EE2S
ER7n0v o0
E35 222510

{EE2
ER70vo®
E35 2222510

{EE2
ER 70y o@
ES5 22 510)

{EE2S
ER70vo®
ES5 222510

{EE2S
ER 70y o0@
HBREO

{EE2
ER70v o

HEEna0

BEERHMERE

g:\)

Ny b=

& (m) 217 (m)

0.5 X 0.5

0.6 X 0.6
BRI 1.09|m3/&
EBRL 0.90 |[m3/%&

0 X 0

0.1 X 0.1
Y 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
Y 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
Y 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

HEiERA

HEERA

HEERA

HEiERA

MR

HEiERA

MR

MR

HEERR

HEERR

RE5/12

GB w2

mE (m) &1 (m3)

0.45 - 0.1125

0.2 = 0.072
[ o ]mos

0 - 0

0.2 = 0.002
I

0 - 0.000

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

KiE At 8.71

BEL Af 7.24

- A% 2.88




{EE2S
ER 70y o@
E35 222 510)

B
ER70vo@
HBREQ

{EE2S
ER 70y o0
ES5 22510

{EE2S
ERT70vo@
HEBHRO®

{EE2S
ER7n0v o0
E35 222510

{EE2
ER70vo®
E35 2222510

{EE2
ER 70y o@
ES5 22 510)

{EE2S
ER70vo®
ES5 222510

{EE2S
ER 70y o0@
HBREO

{EE2
ER70v o

HEEna0

BEERHMERE

& (m) 217 (m)

0.5 X 0.5

0.6 X 0.6
BRI 0.79|m3/%
EBRL 0.64 |m3/%

0 X 0

0.1 X 0.1
Y 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
Y 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
Y 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

g:\)

HEiERA

HEERA

HEERA

HEiERA

MR

HEiERA

MR

MR

HEERR

HEERR

BEERY bRy 7T SAF

RE6/12

G- w2

mE (m) &1 (m3)

0.3 = 0.075

0.2 = 0.072
[ o ]mos

0 - 0

0.2 = 0.002
I

0 - 0.000

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

KiE At 0.79

BEL Af 0.64

- A% 0.36




{EE2S
ER 70y o@
E35 222 510)

B
ER70vo@
HBREQ

{EE2S
ER 70y o0
ES5 22510

{EE2S
ERT70vo@
HEBHRO®

{EE2S
ER7n0v o0
E35 222510

{EE2
ER70vo®
E35 2222510

{EE2
ER 70y o@
ES5 22 510)

{EE2S
ER70vo®
ES5 222510

{EE2S
ER 70y o0@
HBREO

{EE2
ER70v o

HEEna0

/N R RIHMERE #EB1/12
BESY bAKy T oK )
& (m) B (m) CERG) {A# (m3)
0.5 X 0.5 X 0.3 = 0.075
0.6 X 0.6 X 0.2 = 0.072
FRIE 0.79|m3/%  EHERA m2/
HERL 0.64 |m3/%
0 X 0 X 0 = 0
0.1 X 0.1 X 0.2 = 0.002
FRIE 0.07|m3/%  EHERA m2/
#BERL 0.07 |m3/%
0 X 0 X 0 = 0.000
0.1 X 0.1 X 0.2 = 0.002
FRIE 0.07|m3/%  EHERA m2/
#BERL 0.07 |m3/%
0 X 0 X 0 = 0
0.1 X 0.1 X 0.2 = 0.002
FRIE 0.07|m3/&  EHERA m2/
HERL 0.07 |m3/%
0 X 0 X 0 = 0
0.1 X 0.1 X 0.2 = 0.002
FRIE 0.07|m3/%  EHERA m2/
#BERL 0.07 |m3/%
0 X 0 X 0 = 0
0.1 X 0.1 X 0.2 = 0.002
FRIE 0.07|m3/&  EHERA m2/
#BERL 0.07 |m3/%
0 X 0 X 0 = 0
0.1 X 0.1 X 0.2 = 0.002
FRIE 0.07|m3/%  EHERA m2/%
HERL 0.07 |m3/%
0 X 0 X 0 = 0
0.1 X 0.1 X 0.2 = 0.002
FRIE 0.07|m3/%  EHERA m2/
HERL 0.07 |m3/%
0 X 0 X 0 = 0
0.1 X 0.1 X 0.2 = 0.002
FRIE 0.07|m3/%  EHERA m2/%
#BERL 0.07 |m3/%
0 X 0 X 0 = 0
0.1 X 0.1 X 0.2 = 0.002
FRIE 0.07|m3/%  EHERA m2/%
#BERL 0.07 |m3/%
KiE At 0.79
BRL A% 0.64
E- Af 0.36




{EE2S
ER 70y o@
E35 222 510)

B
ER70vo@
HBREQ

{EE2S
ER 70y o0
ES5 22510

{EE2S
ERT70vo@
HEBHRO®

{EE2S
ER7n0v o0
E35 222510

{EE2
ER70vo®
E35 2222510

{EE2
ER 70y o@
ES5 22 510)

{EE2S
ER70vo®
ES5 222510

{EE2S
ER 70y o0@
HBREO

{EE2
ER70v o

HEEna0

BEERHMERE

& (m) 217 (m)

0.5 X 0.5

0.6 X 0.6
BRI 0.79|m3/%
EBRL 0.64 |m3/%

0 X 0

0.1 X 0.1
Y 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
Y 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
Y 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

BEERXY bRy 7 HoA

HEiERA

HEERA

HEERA

HEiERA

MR

HEiERA

MR

MR

HEERR

HEERR

RE8/12

)

mE (m) &1 (m3)

0.3 = 0.075

0.2 = 0.072
[ o ]mos

0 - 0

0.2 = 0.002
I

0 - 0.000

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

KiE At 0.79

BEL Af 0.64

- A% 0.36




{EE2S
ER 70y o@
E35 222 510)

B
ER70vo@
HBREQ

{EE2S
ER 70y o0
ES5 22510

{EE2S
ERT70vo@
HEBHRO®

{EE2S
ER7n0v o0
E35 222510

{EE2
ER70vo®
E35 2222510

{EE2
ER 70y o@
ES5 22 510)

{EE2S
ER70vo®
ES5 222510

{EE2S
ER 70y o0@
HBREO

{EE2
ER70v o

HEEna0

BEERHMERE

& (m) 217 (m)

0.5 X 0.5

0.6 X 0.6
BRI 0.79|m3/%
EBRL 0.64 |m3/%

0 X 0

0.1 X 0.1
Y 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
Y 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
Y 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

g:\)

BERY bRy T U

HEiERA

HEERA

HEERA

HEiERA

MR

HEiERA

MR

MR

HEERR

HEERR

REI/12

@GR 1)

mE (m) &1 (m3)

0.3 = 0.075

0.2 = 0.072
[ o ]mos

0 - 0

0.2 = 0.002
I

0 - 0.000

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

KiE At 0.79

BEL Af 0.64

- A% 0.36




{EE2S
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B
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HEBHRO®

{EE2S
ER7n0v o0
E35 222510

{EE2
ER70vo®
E35 2222510

{EE2
ER 70y o@
ES5 22 510)

{EE2S
ER70vo®
ES5 222510

{EE2S
EHR 70y s@
HBREO

{EE2
E#R7ny @

HEEna0

& (m) 217 (m)

0.8 X 0.8

0.9 X 0.9
BRI 1.67|m3/&
EBRL 1.22 |m3/%&

0 X 0

0.1 X 0.1
Y 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
Y 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
Y 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

HEiERA

HEERA

HEERA

HEiERA

MR

HEiERA

MR

MR

HEERR

HEERR

%B10/12

@GR 1)

= (m) & (m3)
0.45 = 0.288
0.2 = 0.162

o
0 = 0
0.2 = 0.002

o2
0 = 0.000
0.2 = 0.002

o2
0 = 0
0.2 = 0.002

o2
0 = 0
0.2 = 0.002

o
0 = 0
0.2 = 0.002

o2
0 = 0
0.2 = 0.002

o
0 = 0
0.2 = 0.002

o
0 = 0
0.2 = 0.002

o
0 = 0
0.2 = 0.002

o
KiE a5t 6.66
BREL BAF 4.86
2 aF 3.24
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ER70vo®
E35 2222510

{EE2
ER 70y o@
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{EE2S
ER70vo®
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{EE2S
ER 70y o0@
HBREO

{EE2
ER70v o

HEEna0

BEERHMERE

g:\)

Xyra7zVR

& (m) 217 (m)

0.2 X 0.2

0.3 X 0.3
BRI 0.51|m3/%
HERL 0.47 |m3/%

0 X 0

0.1 X 0.1
Y 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
Y 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
Y 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

HEiERA

HEERA

HEERA

HEiERA

MR

HEiERA

MR

MR

HEERR

HEERR

®BE11/12

)

mE (m) &1 (m3)

0.6 = 0.024

0.2 = 0.018

0 - 0

0.2 = 0.002
I

0 - 0.000

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

KiE At 1.02

BEL Af 0.94

- A% 0.18
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{EE2
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HEEna0

BEERHMERE

g:\)

HEiERA

HEERA

HEERA

HEiERA

MR

HEiERA

MR

MR

HEERR

HEERR

FFEPE

& (m) 217 (m)

0.3 X 0.3

0.4 X 0.4
BRI 0.65|m3/£
EBRL 0.56 |m3/%&

0 X 0

0.1 X 0.1
Y 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
Y 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
Y 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

0 X 0

0.1 X 0.1
BRI 0.07|m3/%
EBRL 0.07 |m3/%

®B12/12

)

mE (m) &1 (m3)

0.6 = 0.054

0.2 = 0.032
I

0 - 0

0.2 = 0.002
I

0 - 0.000

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

0 - 0

0.2 = 0.002
I

KiE At 1.30

BEL Af 1.12

- A% 0.32
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817 (m)

mu [_20] i (m)
x x

ER 70y o@

BRL 0.2295 |m3/%

= (m)

11
G

582 (kg)

&1 (m3)

03] =

RIE 0.21|m3/2t FRE ms/:;-g

4.14
4.59

0.45




